
https://www.passapply.com/1z0-1059.html
2024 Latest passapply 1Z0-1059 PDF and VCE dumps Download

 

 

 

1Z0-1059Q&As

Oracle Revenue Management Cloud Service 2019 Implementation
Essentials

Pass Oracle 1Z0-1059 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1z0-1059.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

Latest 1Z0-1059 Dumps | 1Z0-1059 PDF Dumps | 1Z0-1059 Study Guide                                1 / 4

https://www.passapply.com/1z0-1059.html
https://www.passapply.com/1z0-1059.html
https://www.passapply.com/1z0-1059.html


https://www.passapply.com/1z0-1059.html
2024 Latest passapply 1Z0-1059 PDF and VCE dumps Download

QUESTION 1

You define a Contract Identification Rule that uses the following source document attributes to match 

transaction lines: 

Bill-to Customer Party Identifier 

Extensible Header Character Attribute 4 

Based the data displayed: How many contracts will be created In Revenue Management? 

A. 3 

B. 1 

C. 5 

D. 0 

E. 4 

Correct Answer: A 

 

QUESTION 2

After defining a pricing dimension structure for a customer, you must define a pricing dimension structure instance.
Which two attributes on the structure instance are inherited from the structure definition? 

A. Wether Dynamic Combination Creation Allowed is enabled 

B. The value sets 

C. The Query Required option 

D. The Displayed option 

E. The shape: Same nunmber of segments and order 

Correct Answer: BE 
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QUESTION 3

Which two are choices for the Satisfaction Method when defining a Performance Obligation Identification Rule? 

A. require complete 

B. allow partial 

C. allow complete 

D. require partial 

Correct Answer: AB 

Explanation: https://docs.oracle.com/en/cloud/saas/financials/r13-
update18a/fafrm/recognizerevenue.html#FAFRM2321853 

 

QUESTION 4

Given the Identify Customer Contracts Job set performs many different processes, which action Is NOT performed by
this job set? 

A. allocates the SSP to various satisfaction events 

B. creates the accounting for the stages in the process 

C. allocates the SSP to various performance obligations 

D. recognizes revenue if any satisfaction events exist 

E. creates customer contracts and performance obligations 

Correct Answer: B 

 

QUESTION 5

Which is NOT a required piece of information when importing contract header Information from a source file? 

A. Date of Source Document 

B. Source Document Type code 

C. Record Type 

D. Source System 

E. Currency code of source document 

F. Source Document Unique Identifier Number 1 

Correct Answer: F 
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Reference: https://docs.oracle.com/cloud/r13_update17b/financialscs_gs/FAFRM/FAFRM2340000.htm
#FAFRM2340000 
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